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Seclion A

For each question from 1 to 30, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3or 4). Shade the correct oval (1, 2, 3
or 4} on the Optical answer sheet.

1. The chart below shows that animals can be classified according to their
outer body-coverings. R

Animals
Monkey Prawn - { Swan
Goat Crab 1! Penguin
Rabbit Tadpole Hen

Which one of the animals is wiongly classified in the chart shown abhove?

(1) penguin
(2) hen
(3) rabbit
(4) tadpole
2. The table below shows a classification table.

8]

Balsam Mushroom

How are the living things in Group A and B classified?

A B
(1) Can make food Cannot make food
{2) Decomposers Not decomposers
{3) | Herbivores Carnivores
(4) Nafural Man-made




e
The following table gives information on aﬁpﬁiants, Y and Z, based

3
on two characteristics. A tick (V) shows that the plants has the
characteristic.

Characteristic] Y Z
Bear fruit v
Grows in V
-] water
From the information above, where do plants Y and Z belong in the
fotlowing classification table? ‘
Plants
flowering non-flowering
aquatic non- aquatic non-
' aquatic aquatic
A ' B C D
At yA
Plant & Plant B

{1) 1A D

(2) B C

(3} C A

(4) D A

2 115




4. Study the flow chart below.

Yes

Can fly?

Yes

Has backbone?

No

(1) Bird
(2) Dog
(3) Bee
(4) Worm

Y, as shown below.

Glass
Water

e O

Yes

Can fly?

According o the chart, what could be X?

RS :
Thin

Cloth

Frosted glass

April was given a list of materials. She grouped them into 2 groups, X and

Which one of the fo{iowing properties did April use to group the materials?

(1} Texture

(2) Transparency to light

(3) Thermal property
(4) Magnetic propetrty

v



6.

Four objects have been grouped using the classification chart below. ~

Objects that do not allow light to pass through

Conductor of ) Non-conductor of
electricity electricity
Flexible ‘Not, | Flexible Not
flexible - flexible
Copper Iron nail Tabile Ceramic
- wire _ cloth : - cup

Accord_ing to the classification chart, which object has the same property

- as a balloon?

(1) Copper wire

" (2) lron nail

(3) Table cloth
{4} Ceramic cup

%




7.

The table below shows the properties of two materials, X and Y.

Opaque

Transparent or opague

Fioats on water

Water proof

Natural material

Man made material

Poor conductor of heat

Poor conductor of heat

What materials are X and Y most likely to be ?

{(2) Paper Plastic
(3) Aluminium fron
{4y [ Wood Glass

The classification table below shows the oroperties of Objects A, B and C.

Properties | Object A

Object B Object C " .
Waterproof | +/ v X
Hard TN X X
Flexible X N 4

Which one of the following cormrectly identifies Objegts A, B and C?

Object A Object B Object C
(1) Drink can Wooden table 1 Cottan
(2) Steel grille Thread Pebble
{3) Iron nait Porcelain bowl Glass
{4) Pencil lead Rubber hose String
5
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g. [eon conducted an experiment on magnetism. He set up the experiment

as shown below. He placed different materials between the magnet and
the paper clip.

paper clip

Leon recorded his results in the table below.

Which one of the following statements explains the resuits when Material
E was put between between the magnet and the paper clip? '

{1) E is not magnetic material.
{(2) Eis a piece of cloth. ,
(3) Eis a piece of aluminium.

{4) Eis asheetof iron.




10.

11.

12.

John found a rubber seed and he rubbed it on the table. Which one of the
following statements shows the correct energy change?

(1)  kinetic energy ——— sound energy

(2) kinetic energy ——— heat and sound energy

(3)  potential energy ——» heat energy

(4) potential energy ———» heat energy and sound energy

Electrical appliances change electrical energy into different forms of
energy. Which one of the following appliances matches against the usefu

forms of energy it produces?

Appliance Kinetic Sound Heat Light
: energy energy energy Energy
{1) Ceiling fan
(2 Computer v
(3) | Juice blender N v . N
(4) Hair dryer- {7 \[

A ping pong ball was dropped from a height of 1m from the ground. it

bounced to a lower height each time it hit. the ground as shown'in the
diagram below.

Which answer explains fully why the ball does not bounca back to the
same height from which it was first dropped?

{1)  The “dropping” height was too low.

{2) Gravity increased with each bounce.

{3}  lts potential energy was changed into other forms of energy.
(4)  Aliits potential energy was changed into sound energy.

¥



12.  John carried out an experiment using a marble and a curved track.
He placad the marble at position R and then allowed it to roll down
the curved track.

Which of the following describes the changes in potential and kinetic
energy from R {0 T7?

Potential energy Kinetic energy
(1)  increases " decreases
(2) increases increases
(3) decreases : decreases
(4) - decreases increases

1L




14. The chart below shows the classification of energy.

Energy

Kinetic Potentiai

Chemical Gravitational

Which of the following descriptions matches the letters as stated in the
chart above? :

Letter Descriptions

A - | Kite-on a free

B Ball rolling on the grotind
C " | Dynamite 7 '

(1) Aonly

{(2) AandBonly
(3) BandConly
(4 A,BandC

VP



15. A ball rolls down a hilf slope. The energy change is ploited on a graph as
shown below.

J: N
potential D

energy

lrinetic energy

Which line, &, B, C or D in the graph shows the correct change in the potential
energy and kinetic energy of the bail as it rolls to the foot of the hill?

(1) A
(2)B
(3)C
(4)D

10 o 31




16.

Electrical appliances can change electricity to other forms of useful
energy. In the chart below, match the letters to the carrect appliances.

Light energy
{changed by A)

A

Light and scund energy
{changed by B)

Electricity
Kinetic energy Sound energy

{changed by C) {(changed by D)

. A B C D
(1) DVD player Jukebox Cake mixer Electiic blender
(2) Radio Video pod Lift L oudhailer
{3) Traffic light Film projector | Rice cocker | Tape recorder
{4) Electriclamp | Television set | Biender MP3 player

|
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17.

18.

Ben rolled two balls, A and B, along the ground. The two balls moved at
different speeds but in the same direction as shown below.

O- -

Speed: 4 m/s Speed: 2 mfs

What will happen after Ball A hits Ball B‘?

A A and B will travel in the same direction.
B A and B will travel in opposite directions.
C A will slow down and B will travel faster.
D B will slow down and A will travel faster.

(1) Aand Conly
(2) AandD only
(3) BandConly
(4) B and D only

A boyhad 4 spnngs % B, C and D of the same length but of different
strengths. He hung weights on the springs. He measured the
tength of each spring and recorded his findings in the table below.

~ Spring Extension of Spring (in cm)
A 10
B .9
C -8
D 6

Which spring was the strongest?

(1) Spring A
(2) Spring B
(3) Spring C
(4) SpringD

12
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19.

20.

David kicked a ball across a field. The diagram below shows the path of
the bali.

Which of the following statements about the moving ball is correct?

(1)
(2)
(3)
)

Gravity acts on the balf throughout its path.

The speed of the ball is constant throughout.-

The ball has the least potential energy af its maximum height.
Gravity begins to act on the ball only at its maximum height.

A 20-cm long piece of spring was stretched when different weights were

“hung from it. The extension of spring is constant throughout. The

extensions of the spring were recorded ‘as shown in the table below.

Weight (g) | 25 50 400

Extension (cm) 6 - 12 24

What would be the total length of the spring when a 125 g weight is hung
from it? '

(1)
2)
(3)
(4)

30 cm
42 cm
A48 cm
50 cm

13




21.  Glen set up a ramp as shown below. He placed a ball at e top of the
ramp and released iL. He measured the distance travelied by the bail.

Point A

He recorded the results fn the table below.

Types of Distance travelled by the ball (cmj
suriaces
A 28 )
B 45
C 47.5
D 86

From the results, he could infer that

(1)  Surface B was smoother than Surface C.

(2)  there was frictional force between the ball and the ramp.

(3)  the bali had the most potential energy at point A. '

(4)  there was the least friction between Surface D and the ball.” )

14
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22. A boy compared the mass of 4 objecis A, B, C and D by using a lever
balance. He added a weight of 5g to object C to balance it with object A.

The order of the objects from the lightest to the heaviest is

() A,B,C,D
2) A, C,BD
3y C,AB,D
(@,’ D,A B C

L]
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24.

The fruits/seeds shown below are grouped according to their methods of

dispersal.

Group A Group B Group C
Balsam Shorea { otus
Flame of the Forest African Tulip Seed

Mangrove

Which one of the foliowing sets of fruits/seeds does not maich the
classification table shown above?

Group A Group B Group C
(1) | Rubber Lalang Coconut
(2) | Rain Tree Angsana Pong Pong
(3) | Saga Dandeiion Water-lily
(4) | Mimosa fruit Cupid's Shaving Brush | Sea Almond
The diagram shows a food web in a forest community.
- Hawk
Wolf
° 5| Snake
Hen
Grasshopper
Grass

Which population is most likely to decrease if the snakes are removed

from this web?

(1) Hen
(2) Wolf
(3} Hawk

(4} Grasshopper

16
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25.

The process of respiration is represented as follows:

A + sugar

—* B + C +Watervapour

What do the letters A, B and C represent?

(1)
2)
(3)
(4)

Truwe

~

A B C

Carbaon dioxide Starch Oxygen

Starch Energy Carbon Dioxide
Oxygen Carbon Dioxide Energy

Energy Oxygen. Sugar

Which of the foiiowing statements islare\aboUt respiration?.

R PP W

RFEBE

Heat is released during respiration.
Plants carry out respiration all the time.
Plants do not respire when they carry out photosynthesis.

Our body breaks down food to produce oxygen for respiration.

A oniy

A and B only

A, B and C only
A, B, Cand D

17
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Which of the following are single-celled organisms?

A Algae

B Yeast

C Coral

D Paramecium
(1} AandC

(2) AandD

(3} BandC

(4) Band D

Miss Tan gave her pupils a table which shows the properties of three cells,
Cell A, Cell B and Celi C.

A B C

Cyloplasm + N ~
Cell membrane | + B E

| Nucleus + ~ J
Cell wall N +
Sap ~ v
Chioroplasts \

The pupils made the following conclusions. Which one of the conclusions
is correct?

(1}  Only Cell Cis a plant cell.

(2) Only Cell B is a plant cell.

(3) Cell B and Cell C are plant cells.
(4)  Alithe cells are plant cells.

18 \’bc\




29.  The chart below shows the methods of reproduction.

Repiroduction

I 1
Asexual reproduction Sexual reproduction
| I 1 | 1
A | B c D
Yeast Amoeba Guppy : Platypus

Which one of the following represénts A, B, C and D?

A B ) C D
&) | Cell Division Budding Laving eggs Glving birth
(% Budding Cell Division Giving birth Laying eggs
r&: -1 Cell Division Budding (Giving birth Laying eggs
Q

Budding Cell Division | Laying eggs Giving birth

19
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30. The diagram below shows the position of the Moon, Earth and the Sun.

()

Moon . Earth - Sun

A

Which of the diagram below represents the shape of the Moon a person
standing at Point A on the Earth will see?

(1) (2)

(3) (4)

1
20 i




Name : . ‘ ()

Class:P6( )

Section B: 40 marks :

Read the questions carefully and write down your answers in the spaces
provided.

31,7 The table below shows 2 groups of animals.

',."Pen iny'
Fox Chicken
Platypus Owl

(a) How are the animals classified? ‘ i1

Group A _

Group B :
(b) Name another apinial that can be classified in Group B. [1]
{c) - State one characteristic of the animals in Group-A but not in Group B. (1

1Y)
21



32. Study the classification table beiow.

Eleph
Goat
Dog

Mosquito
X

(a) What could Animal X be ¢ [1]

(b) There are many other ways to classify the above animals. Re-classify the
animals into 2 groups, using a classification chart. [1]

(c) Other than the two ways of classification stated in (a) and (b),write down another
way to re-classify the animals. - _ [1]

22
s




33. A classification chart of fruits is shown below.

Edible

With

one seed

2D

Inedible

Dispersed
by wind

Dispersed
by water

pong pong

(a) Based onthe char, list two charact,e,p'rstﬁs of a pong pong fruit. [1]
(b) State one example of X and Y.
X: | 11
Y: [1]
!
3

23
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34.

(a)

(B)

(c)

The diagram below shows 3 containers which are made of 3 different
materials, aluminium, ceramic and plastic . They are similar in shape and
size. 300mi of hot water is poured into each of them and their temperatures

are recorded at 2- minute intervals over a 10-minute period.

The results are as follows :

Cantainer : Temperature in ° C
. ' Star 2 min 4 min 6 min 8 min 10 min
A 65 64 62 60 58 56
1B 65 63 1 61 58 55 52
C 65 162 59 55 51 48
From the results table which container can retain the most heat? 1]

What material could Container A be made of? : [1]

Write down anathet useful property of the material used to make Container
A, 1]

24
l




35.

In the diagram below, John is using a pair of steel tongs w:th plastlc
handles.

“Explain why the tongs used by John are made of two different materials. [2]

Plastic :

Metal

25
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36. The table below shows the amount of energy per serving of each food item.

Food category ftems Energy per serving (kJ)
Cakes Banana cake 969
Chocolate cake 1763
Blackforest cake 1240
Snacks Onion rings 543 -
Cheese balls 355
Potato chips 428
Drinks Fruit tea 137
lced Milo | 262
Coffee‘without mitk | 54

(a) Alabourer chose to have the chocolate cake, onion rings and iced Milo for
lunch. Explain his cheice of food.

[1]

(b) State the- energy conversidn wheﬁ the labourer carried a-heavy box%géy%

flight of stairs.

1]

26
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37.  Atennis bali is released from the top of ramp X. It rolls downwards and
along the floor. Then it fravels up ramp Y and down before it is siopped by
a wooden block Z, as shown in the diagram below.

Study each of the following statements carefully and state whether it is
“True” or “False” by putting a tick in the respective columns. 2]

Statements True False

-) When the tennis ball is released, it gains
potential energy.

The tennis ball has the most potential energy at
the bottom of ramp X.

o

Kinetic energy is changed to potential enﬂrgy
when the ball travels up ramp Y. 5

A
-~

y The tennis ball has gravitational potential
) energy at the top of ramp .

© 27
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38. Lisa had 3 types of metal rods. She set up an experiment as shown in the

diagram.
i copper rad -
themmometer thermometer
i S
F} N T
S P, -
insulated AT 87~ {insulated
beaker A .. {beakerB

She connected a copper rod to two insulated beakers containing equal ‘
amounts of the same type of fiquid. The temperature of the liquid in Beaker
A was 95°C and the temperature of the liquid in Beaker B was 5°C.

She recorded the temperatures of the fiquids in the 2 beakers at regular
intervals. Each experiment ended when the temperature of the liquid in the

. 2 beakers were the same. She repeated the same experiment using steel
and aluminium rods. The table below shows part of the results of her

experiment.
Metal Termperature at the end (°C) Time taken
Beaker A Beaker B 4 {min)
Aluminium 50 . 50 24
Copper 50 S0 12
Steel 50 50 48
(a) What is the aim of the experiment? - _ -

(b)  From the results table, what cén she conclude about the experiment? [1]

(c) Besideé the temperature of the liquids, state one other variableof the -
experiment that she needed to keep the same for the experiment to be fair.

(1]

28




39. Tom positioned his torchlight at an angle X° as shown in the diagram
below. He shone it at a stick and then measured the length of the shadow.

stick

shadow

He repeated the experiment, increasing the angle of the light source each
time. Then he recorded his observation as follows :

Angle of light source (°) Length of shadow {cm)
80 5
a0 0
100 .7
110 : 10
120 o 15

(a) Based on the resuits, what is the length of the shadow when the angle of
the light source is at 100°? : {1]

{(b) State another source of fight energy, besides the one used in this
experimernt [1]

79 2.
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40.

During.a Science lesson, Sue was given a bar of magnet, and 3

rectangular objects.

Magnet Object A

Object B

Object C

Describe, in the box below, the steps she should take to find out the
foltowing which of the 3 objects is: a magnet, made of magnetic material,

made of non-magnetic material.

(3]

30
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41.  Tim carried out an experiment. He placed two identical tins, with a
thermometer in each, under the sun.

Tin A . TinB
Wrapped with black  Wrapped with white

construction paper construction paper

After 15 minutes, he recorded the temperatures of both cans and
presented his readings in the table below.

Temperature {°c]
Time (min) Tin A Tin B
0 _ 24 24
15 o 30 27
(8)  Whatis the aim of his experiment? ' (1]
. - - - -t
{b) 'What can he conclude from his experiment? [l

(c) Which colour woluid\yc-.u choose for a T-shirt if you want to feel cooler? 1] |

/
3

31
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42.  Two boys, Tom and Jerry, carried outan eXpeﬂment to compare the
strength of 2 springs. They recorded the:r findings in the grcnph as shown

below.

Spring &

Spring B

Lengtty of gpring (em)

R - Mlass ()
0 10 20 30 40 50 60

(&) Whatwas the mass of the object when their springs were of the same
length? {1

{b) What was the extension of Spring Awhen an objecf of 40 g mass was
hung on it? {1

{c) Wl'iét could they conclude about Spring A and Spring B front the
experiment? 1]

32 N




43. Ben used a microscope to examine some plants cefis on a slide. One of

the cells is shown in the diagram below.

Complete the table below by matching the correct part of the cell

(A, B. C, D, E) with its description. 2]
Function , 1 Part
{a) - It controls celiular activities. ?
{b) It controls what goes in and out of the cell.
{c) It gives support to the support to the plant cell
- and helps it to maintain its shape.
(d) it converis light energyto chemicéi energy.
2

33
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44,

Five organisms, A, B, C, D and E are found in a pond community.
[nformation about these organisms is as shown:

v Ais the food producer.
= Two of the animals eat plants only.

«  Two of the animals are carnivores.

v DeatsC

Complete the food web below.

@)

(2]

34
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45.  Jack made a toy as shown below.

The toy was turned over and pressed down. When the toy was released, it
jumped up.

(@  Whatwas the toy’s energy source? _ {13
(b). How could Jack make the toy jump higher? ’ 1]
2 -
35
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46. Kiris carried out an experiment to find out how the brightness of fight wil
affect photosynthesis carried out by a water plant. The diagram below
shows her set-up.

- sourceft

State 2 variables she must measure. Explain your reason for measuring
each variable.

| 1]
(a).

[

®) -

36.

151




Ai Tong Primary Scheel
Primarv 6 Science CA1 Exams (2008)

Qo. Ans Qmn no. Ans Qn no Ans
1 4 11 4 21 4
2 1 12 3 22 3
3 1 13 4 23 4
4 2 14 4 24 3
5 2 15 1 25 3
6 3 16 4 26 2
7 1 17 1 27 4
8 4 i8 4 28 3
9 4 i9 1 29 2
10 2 20 4 30 3
31a. Group A : Mammals
Group B : Birds
31b. Parrot
3le. The animals in Group A have hair but the animals in Group B does not have hair.
32a. Dragon fly
32b.
Animals with different types of reproduction methods
Give birth to young Lay eggs
Elephant Parrot
Goat Eagle .
Gog Chicken/M05g U0
32c¢. Animals that fly, animals that do not fly.
33a, It is inedible and dispersed by water.
33b. X : rambutan
Y : Anpngsana
34a. Container A
34b. Ceramic
34c. 1t is water proof
35. Plastic, Itis conductor of heat is s0 it enable John to hold the tongs.
Metal. It will not melt when it comes into contact with the heat.
36a. They provide kim with the most amount of energy that he needs to carry out kis daily
work
36h. Chemical potential energy — Kinetic energy ~— heat erergy + sound energy.




37(i).
38a.
38b.
38c.
39a.

40.

41a,
41b.

False (ii) False (it) True (iv) True

To find out which materials the best conduction of keat.
Copper is the besi conductor of heat.
The same types of beakers.

S5cm (b) Thesun

(1) Use the magnet to test on the both sides of A.

(2) See the results. In both sides of object A attracts, it is a magnet material. If only
one side of object A attracts, the other repels, it is a magnet. If both sides does not
attracts, it is made of non-magnetic material.

(3) Repeat the first two steps for object B and C.

To find out if dark-coloured surfaces or light-coloured surfaces abscrb more heat.
Dark-coloured surfaces absorb more heat than lightiy-coloured surfaces.
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